
 

Electrical & Computer Engineering, Virginia Military Institute COL Squire 

EE431 Problem Set  Lecture 14 
 

Find the Z-transform for the following signals 

 

1. x1[n] = (0.4)n u[n].  Also, find the ROC. 

 

2. x2[n] = (-0.6)n u[n].  Also, find the ROC. 

 

3. x3[n] = (0.3)n u[n-4] 

 

4. x4[n] = 5δ[n-2].  Also, find the ROC. 

 

5. Write the following polynomial in each of the four notational forms in the handout (ie 

unfactored/factored polynomial in z/z-1): 

 

𝑋(𝑧) =
6𝑧3 + 2𝑧2

(𝑧2 − 6𝑧 + 8)(𝑧 + 1)
 


